
Q4

2SA1381C

Q5

KSA992

R15

4.7

D5

GREEN

D6

GREEN
C9

0.1µ

R16

22

Q6

KSC1845

Q7

2SC3503C

R21

4.7

R22

22

D7

GREEN

D8

GREEN

C10

0.1µ

R23

22k

R24

22k

Q8

KSC1845

Q9

KSA992

R25

470

R26

470

R27

82

R28

82

R29

2.2k

R30

2.2k

C11

2200µ

C12

2200µ

R31

10k

C13

330p

R32

100

AC 1

V3

SINE(0 1.6 {Freq})

Q1

MJL3281C

Q2

MJL3281C

Q10

MJL3281C

R9

0.22

R33

0.22

R34

0.22

R35

2.2

R36

2.2

R37

2.2

22µ

C17

22µ

C18

22µ

C19

Q11

MJL1302C

Q12

MJL1302C

Q13

MJL1302C

R38

0.22

R39

0.22

R40

0.22

R41

2.2

R42

2.2

R43

2.2

22µ

C20

22µ

C21

22µ

C22

Q14

MJE15032C

Q15

MJE15033C

R44

68

C23

0.68µ

R45

4.7

R46

4.7

R47

10

C24

0.1µ

R48

10

L2

1.5µ

R49

8

C25

0.1µ 470µ

C26

C27

0.1µ 470µ

C28

V4

SINE(0 0 20K)

V5

SINE(0 0 20K)

Rser=0.5

V6

56

Rser=0.5

V7

56

Q16

2SC3503C

Q17

2SA1381C

R50

22

R51

22

R52

470

C29

220p

R53

10

C30

220p

R54

10

Q18

2SC3503C

Q19

2SC3503C

R1

1.2k

R2

1.2k

R3

1.8k

R4

710

C1

0.1µ

C4

22p

C5

22p

AC 1

V1

SINE(0 0.5 19k)

J1

2N5486

R5

1.25k

R6

5.6k

D1

BZX84C15L

C2

47µ

J2

2N5486

R7

1.239k

R8

5.6k

D2

BZX84C15L

C3

47µ

C6

470µ

C7

470µ

Q
3

2
S
C
3
5
0
3
C

R10

470

R11

22k

C8

470µ

Q
2
0

2
S
A
1
3
8
1
C

R12

470

R13

22k

C14

470µ

C15

470µ

C16

470µ

V
in

V
o
u
t

;op

.options plotwinsize=0

.options method=gear

.options numdgt=7

.param Freq=20K

.param numcyc=20

.param dlycyc=5

.param FFT=2**16

.param simtime=numcyc/Freq+dlytime

.param dlytime=dlycyc/Freq

.param timestep=(simtime-dlytime)/FFT

.four {Freq} V(Vin) V(Vout)

.four {Freq} 4 V(Vin) V(Vout)

;

.tran 0 {simtime} {dlytime} {timestep}

 

.option numdgt=15

 

.option reltol=1e-6

.option ptrantau=0

;ac oct 100 1 1G

;noise v(Vout) V3 oct 100 1 100meg
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